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0000010210200 20 2003,5,7,11,13,17000000 1000000

555H87 = 47 x 11821 x 1

o000 10210200 0000000000000

2P 41 =510510m + 45077

gbobooobogobooboboobboobooobuoooboon

Q=2777990000
P = 5105100 + 277799

2P + 1 =2(510510n + 277799) + 1 = 1021020n + 555598 + 1 = 1021020n + 555599

0000010210200 20 2003,5,7,11,13,17000000 10000000

555599 = 11 x 53 x 953 x 1

oooo
2P + 1 = 11(92820n + 50509)

goooooboonooooooobobooooOobooooDobDOooDOobDOobooboOoboo
good

Q=2773010000
P = 510510n + 277801

2P 4+ 1 =2(510510n + 277801) + 1 = 10210201 + 555602 + 1 = 10210201 + 555603

0000010210200 20 2003,5,7,11,13,17000000 10000000

555603 =3 x 43 x 59 x 73 x 1

oooo
2P + 1 = 3(340340n + 185201)

obooboobooo3obobooooooboboooobobobDoboDobooobUoboooo
goo

Q=2778070000
P = 510510n + 277807

2P 4+ 1 =2(510510n + 277807) + 1 = 1021020n + 555614 + 1 = 10210201 + 555615
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0000010210200 20 2003,5,7,11,13,17000000 10000000

555615 =3 x 3 x 5 x 12347 x 1

oooo
2P + 1 = 15(68068n + 37041)

o0oobOoooibooobooooOooooOoobooob0o0oboOobUoooooboOoobOoo
good

Q=2778110000
P = 510510n + 277811

2P + 1 = 2(510510n + 277811) 4+ 1 = 10210201 + 555622 + 1 = 10210201 + 555623
0000010210200 20 2003,5,7,11,13,17000000 1000000

555623 = 157 x 3539 x 1

o000 10210200 0000000000000

2P +1 =510510m + 45113

gboboobogobooboboobboobbooobuoonooboon

Q=2778130000
P = 510510n + 277813

2P + 1 = 2(510510n + 277813) 4+ 1 = 10210201 4 555626 + 1 = 10210201 + 555627
0000010210200 20 2003,5,7,11,13,17000000 10000000

955627 = 3 x 89 x 2081 x 1

oooo
2P + 1 = 3(340340n + 185209)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=2778170000O
P = 510510n + 277817

2P 4+ 1 =2(510510n + 277817) + 1 = 1021020n + 555634 + 1 = 10210201 + 555635

0000010210200 20 2003,5,7,11,13,17000000 10000000

555635 =5 x 111127 x 1

0ooo
2P + 1 = 5(204204n + 111127)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=2778190000
P = 510510n + 277819

2P + 1 = 2(510510n + 277819) 4 1 = 10210201 + 555638 + 1 = 10210201 + 555639
0000010210200 20 2003,5,7,11,13,17000000 10000000

555639 = 3 X 7 x 26459 x 1

oooo
2P + 1 = 21(48620n + 26459)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=12778290000
P = 510510n + 277829

2P 4+ 1 = 2(510510n + 277829) + 1 = 10210201 4 555658 + 1 = 1021020n + 555659
0000010210200 20 2003,5,7,11,13,17000000 10000000

555609 = 13 x 42743 x 1

oooo
2P + 1 = 13(78540n + 42743)

oboobooobo3oooobooooobobooobooboobooboboooobOoobOoo
good

Q=2778410000
P = 510510n + 277841

2P + 1 = 2(510510n + 277841) 4+ 1 = 10210201 + 555682 + 1 = 10210201 + 555683
0000010210200 20 2003,5,7,11,13,17000000 1000000
555683 = 555683 x 1
0000 10210200000000000000
2P + 1 = 510510m + 45173

gbooboobooobooboboobboobboooboooboon

Q=2778430000
P = 510510n + 277843

2P 4+ 1 =2(510510n + 277843) + 1 = 10210201 + 555686 + 1 = 10210201 + 555687
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0000010210200 20 2003,5,7,11,13,17000000 10000000

555687 =3 x 3 x 3 x 11 x 1871 x 1

oooo
2P + 1 = 33(30940n + 16839)

oooooooos3oooooooooooooobooooboooooOobooooboOoooDobOn
oooo

Q=2778470000
P = 5105100 + 277847

2P 4+ 1 = 2(510510n + 277847) + 1 = 10210200 + 555694 + 1 = 10210201 + 555695
0000010210200 20 2003,5,7,11,13,17000000 10000000

959695 = 5 x 7 x 156877 x 1

oooo
2P + 1 = 35(29172n + 15877)

obooboooosboogbobooboooboboooboobooboobobooooboOoobOoo
goog

Q=2778530000
P = 510510n + 277853

2P + 1 = 2(510510n + 277853) 4+ 1 = 10210201 4 555706 + 1 = 10210201 + 555707
0000010210200 20 2003,5,7,11,13,17000000 1000000
555707 = 555707 x 1
0000 10210200000000000000
2P + 1 = 510510m + 45197

gbooboobooobooboboobboobbooboooboon

Q=2778590000
P = 5105100 + 277859

2P 4+ 1 =2(510510n + 277859) + 1 = 1021020n + 555718 + 1 = 1021020n + 555719

0000010210200 20 2003,5,7,11,13,17000000 1000000

555719 = 263 x 2113 x 1

o000 10210200 000000000000

2P 41 =510510m + 45209
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gboboobogobogoboboobboobooobooooboon

Q=2778610000
P = 5105100 + 277861

2P 4+ 1 =2(510510n + 277861) + 1 = 1021020n + 555722 + 1 = 10210201 + 555723

0000010210200 20 2003,5,7,11,13,17000000 10000000

555723 =3 x 3 x 7 x 8821 x 1

oooo
2P + 1 = 21(48620n + 26463)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=2778670000
P = 5105100 + 277867

2P 4+ 1 =2(510510n + 277867) + 1 = 1021020n + 555734 + 1 = 10210201 + 555735

0000010210200 20 2003,5,7,11,13,17000000 10000000

955735 =3 x 5 x 37049 x 1

oooo
2P + 1 = 15(68068n + 37049)

oooooooolibooooboooooboboooboobooboobooooobOooboo
good

Q=2778730000
P = 510510n + 277873

2P + 1 =2(510510n + 277873) + 1 = 10210201 + 555746 + 1 = 1021020n + 555747

0000010210200 20 2003,5,7,11,13,17000000 10000000

950747 =3 x 17 x 17 x 641 x 1

oooo
2P + 1 = 51(20020n + 10897)

ooooooooslioooooooooooooobooooboooooOobo0ooooboOoooDobOn
oooo

Q=2778770000
P = 510510n + 277877

2P 4+ 1 =2(510510n + 277877) + 1 = 1021020n + 555754 + 1 = 10210201 + 555755
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0000010210200 20 2003,5,7,11,13,17000000 10000000

555755 =5 x 41 x 2711 x 1

oooo
2P + 1 = 5(204204n + 111151)

o0dobOooOOo0os000b0b00O0O00ObO0ODbDObOOObOO0ObDObDObDObOOODbDObDODbDOn
goo

Q=2778830000
P = 510510n + 277883

2P + 1 = 2(510510n + 277883) 4+ 1 = 10210201 4 555766 + 1 = 10210201 + 555767
0000010210200 20 2003,5,7,11,13,17000000 1000000

955767 = 555767 x 1

o000 10210200 0000000000000

2P 41 =510510m + 45257

gboboobogobooboboobboobbooobuoonooboon

Q=1277889 0000
P = 5105100 + 277889

2P + 1 = 2(510510n + 277889) 4 1 = 10210201 + 555778 4+ 1 = 10210201 + 555779
0000010210200 20 2003,5,7,11,13,17000000 10000000

555779 =7 x 79397 x 1

oooo
2P + 1 = 7(145860n + 79397)

ooooooobogovyooooOoooOoobooOoooOOobOo0oDbDOooDbDOoobDbOODOoOoDbboODboO
goo

Q=2778910000
P = 510510n + 277891

2P 4+ 1 =2(510510n + 277891) + 1 = 10210201 + 555782 + 1 = 10210201 + 555783

0000010210200 20 2003,5,7,11,13,17000000 10000000

555783 = 3 x 229 x 809 x 1

oooo
2P + 1 = 3(340340n + 185261)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2778970000
P = 510510n + 277897

2P 4+ 1 =2(510510n + 277897) + 1 = 10210201 + 555794 + 1 = 1021020n + 555795

0000010210200 20 2003,5,7,11,13,17000000 10000000

555795 =3 x 3 x 3 xH x23x 179 x 1

oooo
2P + 1 = 15(68068n + 37053)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=2779030000
P = 510510n + 277903

2P 4+ 1 =2(510510n + 277903) + 1 = 10210201 + 555806 + 1 = 1021020n + 555807

0000010210200 20 2003,5,7,11,13,17000000 10000000

955807 =3 x 7 x 7Tx19 x 199 x 1

oooo
2P + 1 = 21(48620n + 26467)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=277909 0000
P = 510510n + 277909

2P + 1 = 2(510510n + 277909) + 1 = 10210201 + 555818 + 1 = 10210201 + 555819
0000010210200 20 2003,5,7,11,13,17000000 10000000

555819 = 3 x 11 x 16843 x 1

good
2P + 1 = 33(30940n + 16843)

o0boobooo33boooooooooboboooboooboobooboboDoooboOoobOoo
good

Q=2779130000
P = 510510n + 277913
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2P + 1 =2(510510n + 277913) + 1 = 10210201 + 555826 + 1 = 1021020n + 555827

0000010210200 20 2003,5,7,11,13,17000000 1000000

555827 = 555827 x 1

o000 10210200000000000000O0

2P 41 =510510m + 45317

gboboobogobogoboboobboobooobooooboon

Q=2779190000
P = 5105100 + 277919

2P + 1 = 2(510510n + 277919) 4+ 1 = 10210201 + 555838 + 1 = 10210201 4 555839
0000010210200 20 2003,5,7,11,13,17000000 1000000

955839 = 59 x 9421 x 1

o000 10210200 000000000000

2P +1 = 510510m + 45329

gbbogbogoboobbuoobboobboooobuoonbagn

Q=2779310000
P = 510510n + 277931

2P 4+ 1 =2(510510n + 277931) + 1 = 1021020n + 555862 + 1 = 1021020n + 555863
oboo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

955863 =7 x 11 x 7219 x 1

oooOo
2P +1 = T77(13260n + 7219)

000O0oooOoywooooO0oO0o0ooo0oo0DooooDooDOooDoDooooooooonog
good

Q=2779390000
P = 510510n + 277939

2P 4+ 1 =2(510510n + 277939) + 1 = 10210201 + 555878 + 1 = 10210201 + 555879

0000010210200 20 2003,5,7,11,13,17000000 10000000

555879 = 3 x 127 x 1459 x 1
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oooo
2P + 1 = 3(340340n + 185293)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=2779430000
P = 5105100 + 277943

2P 4+ 1 = 2(510510n + 277943) + 1 = 10210200 + 555886 + 1 = 10210200 + 555887
0000010210200 20 2003,5,7,11,13,17000000 1000000
555887 = 23 x 24169 x 1
0000 10210200000000000000
2P + 1 = 510510m + 45377

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=2779510000
P = 510510n + 277951

2P 4+ 1 =2(510510n + 277951) + 1 = 10210201 + 555902 + 1 = 10210201 + 555903

0000010210200 20 2003,5,7,11,13,17000000 10000000

955903 =3 x 3 x 3 x 3 x 6863 x 1

good
2P + 1 = 3(340340n + 185301)

g0obOobooo30bobobooooobobooDoobooboboDobDobooobOobOobDOoo
goo
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